[ A ]

1.
V  F  F
2.

[image: image1.wmf]senx

 

2

1

 

cosx 

 

2

1

 

-

 

e

 

c

 

 

c

x

-

2

1

+

+


3.
x > 0
4.
max e min non esistono, sup = 1 , inf = -1 , punti di accumulazione ±1
5.
-1/2
6 .
1  ,  - 1 - 
[image: image2.wmf]2

 


7.
tg ( logx ) + c  .

8.
y = 
[image: image3.wmf]3

 

 -  
[image: image4.wmf]3

 

2

 ( x – ½ ) 
[ B ]

1.
V  F  F

2.

[image: image5.wmf]senx

 

2

1

 

cosx 

 

2

1

 

-

 

e

 

c

 

 

c

x

-

2

1

-

+


3.
x < 0

4.
max e sup = 5/4 , min e inf = -2 , punti di accumulazione ±1
5.
-9/4
6 .
-1  ,  1 +
[image: image6.wmf]2

 


7.

[image: image7.wmf] 

)

 

 x

 

arctg

 

-

 

 x

 

(

 

2

+ c  .

8.

[image: image8.wmf])

 

3

 

-

 x 

(

 

 

2

3

 

-

 

2

1

 

y 

=


[ C ]

1.
F  V  F

2.

[image: image9.wmf]senx

 

17

4

 

cosx 

 

17

1

 

-

 

e

 

c

 

 

c

4x

-

2

1

+

+


3.
x > -1/4

4.
max e min non esistono, sup = 1 , inf = -1 , punti di accumulazione ±1
5.
3
6 .
1/2  ,  ( - 1 - 
[image: image10.wmf]2

 

) / 2
7.

[image: image11.wmf]2

 x

4

1

 

logx 

 

2

 

+

-

+ c  .

8.
y = -
[image: image12.wmf]3

 

 +  
[image: image13.wmf]3

 

2

 ( x – ½ ) 

[ D ]

1.
F  V  F

2.

[image: image14.wmf]senx

 

17

1

 

cosx 

 

17

4

 

-

 

e

 

c

 

 

c

4x

-

2

1

-

+


3.
x < 1/4
4.
max e sup = 3/2 , min e inf = -3 , punti di accumulazione ±1
5.
2
6 .
-1/2  ,  (1 +
[image: image15.wmf]2

 

)/2
7.
x  log ( x2 + 1 ) – 2 x + 2 arctgx + c  .

8.

[image: image16.wmf])

 

3

 

-

 x 

(

 

 

2

3

 

 

2

1

 

-

 

y 

+

=


_1691138846.unknown

_1691138978.unknown

_1691139409.unknown

_1691139457.unknown

_1691139716.unknown

_1691139235.unknown

_1691138000.unknown

_1691137676.unknown

_1691052218.unknown

_1691052269.unknown

_1691051138.unknown

